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ENGLISH VERSION

General Instructions @ .‘_‘

Read the followmg mstructions very carefully and strictly follow them:

(i) This: questwn paper contains 50 questions out of which 40 questions are
o be Guemptcd All questions carry equal marks.
| ") The question paper consists of three Sectwns - Section A, B and C. .-
L () Section - A contains of 20 questions. Attempt any 16 questzons from ol
. Q. No. 01 to 20. - . 8 «'il..
F (iv)  Section - B also contains of 20 questions. Attempt any 16 q‘ifestzons
from Q No. 21 to 40.
(v)
(vi)

SECTION - A

Q No ’1 bo 20 are of 1 mark each. Attempt any 16 from Q. 1 to 20.

?'7 The exponent of 5 in the prime factorisation of 3750 is

@ 6

, () 5

{i‘. . % il' Y
{‘{ - i\- LN bt
@ The graph of a polynomial P(x) cuts the x-axis :n; 3 qumta zi'nd touches it at
2 other points. The number of zeroes of P(x)(lq - et‘m*
! 7D
Fa X )
030/2/4 P Page 2
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3. The values of x and y satis

respectively are :

@ -12

[ ¥ A,
i -

18 AGNB),
B W

B(0, 0) and

5. In figure, DE || BC, AD =

ar (AADE) is equal to

}fii“ingle ABC, then the value of k is

fyqu th’g twbvéq'uations 32x + 33y = 34, 33x + 32y = 31

by -1,4
(d -1,-4

C(@3, k) are the three vertices of an equilateral

@ 2 L

2 cm and BD =3 c‘iﬁ‘* hen ;ii'.‘(&ABC) :

p
© °
030/2/4 P.T.0.
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7. The area of a quadrant of a circle where the circumference of circle is 176 m,

s
(@ 2464 m2 (b) 1232 m?
o qu;m.*-.;;.s’“;_;, (d) 308 m?

(b)
1 (d)

m in an exact number of minutes ?
(a) 17 m/min
(¢) 23 m/min

ey, e 1 ®)
R @

2
-1

' For an‘evenf E, P(E) + P(E) = x, then the value of x3 -3 1is

<, * 5.

wr

9. What is the greatest possible speed at which a girl can Walk 95 m and 171

11. Two lines are given to be parallel. The equat1 n of ét%f %hé
2y = 5. The equation of the second line can bg‘\ ,@@,ﬁb A
(a) 9x+8y="1 o (12\‘R =120+ 8y =7
~12x+ 8y =17 *é‘% » ?‘(d) °-‘f12x+ 8y=17
030/2/4 @ ¢ ‘Page4
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12. Three vertices of a parallglqg’ram‘ ABCD are A(1, 4), B(-2, 3) and C(5, 8). The

ordinate of the fourt'}“l'rvgfrte;i;l} ls

(a) 8 | V(h/f) /(/

© 7 % .3 d) 6
P ,.v’a'\ '{ 4 .,'
& ig, Hag

o § . 1
ﬁIﬂ;’AABC and ADEF, ZF = £C, zB = ZE and AB ='§DE. Then, the two

triangles are

(a) Congruent, but not similar.
@3/ Similar, but not congrueht. 1
(¢) Neither congruent nor similar.
(d) Congruent as well as similarf |,
14. In AABC righyﬂ%ngled%%t P sinA = 25 then the value of cosC is
' 24
(b) 35
24
@ _ @ =
?fa ".-’;‘35; ’ N 'Y;J‘ :.'. :-.' ;f
v 5 15. The minute hand of a clock is 84 cm long. The distanca'iébi;ered"-by the tip
- of minute hand from 10:10 am to 10:25 am is % L
(a) 44cm
\2f 132cm
030/2/4 P.T.O.
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7% :’|§ )
16. The probability that the rdrgkiin (:prd from a pack of 62 cargg is ne
2 Neither an ace

nor a spade is ' 3;;:“,;_,\ g

@ 5 A 5

o Ba3 O
AR

1N :Three alarm clocks ring their alarms at regular intervals of 20-(mm \,25 Y
" min and 30 min respectively. If they first beep together atr‘l{2 noon at
57

what time will they beep again for the first time ? {?*, \\ "
(a) 4:00pm b) 4:30pdf D b
ST 5 x;-_,,
\}65 5:00 pm 30 pm* thj

H.e o5,

18. A quadratic polynomial, the product "“nd?sum of whose zeroes are 5 and 8

respettively is
) k[x®2-—8x+ 5] ¥
k [x% — 5x+ 8]

1?-"‘ .

b) k[x2+8x+5] .
9{ k [x%+ 5x+ 8]

4\’ 41‘

y) and B(5, 7) lie on a circle with centre 0 (2,

-rvalues nf y are
A l:"’- [

_EY @b L7 ®) -1,7

A5 w4

£ 2. 05

ot PP 2,7 @ -2,-7
o

+ tan0 .
Given that secb = '\ff_l the value of —_sme is .
. A
®) {sjE

(©
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..SECTION - B
Q. No. 21 to 40 are o£ 1 rﬁark’ each'. Attempt any 16 from Q. 21 to 49 -

'i
21. The greatesb’“number whlch when divides 1251, 9377 and 15628 leaveg
remamdér 1, 2 and 3 respectively is

'., 450

Wlaich of the following cannot be the probability of an event ?
o -

(a) 0.01 (b) 3% >
16 il
© 17 16

23. The diameter of a car wheel is 42 c¢m. The ng_mber of c-'gf;lplete revolutionsg
it will make in moving 132 km is A,

(a) 104
(c) 106

2125, The ratio in which the line 3x + y — 9 = 0 divides the hne segment Jommgi'f?
' the points (1, 3) and (2, 7) is : i

/ (@ 3:2 b)) 2:3
© 3:4

\Jm/'

26.
(@) a=5b=-1
(c) a=7,b=-3
030/2/4 P.T.0.
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27. Ifa | | (b) Not coprime
Coprime - T T4
ErgfHo W (d) Odd

(c) Even ”'_‘53‘}» é; Lr’;"\éf o
e g1
' . o 1408 . ~ I

08, The'area of a square that can be inscribed in a circle of area —7— ¢m~1s | 5

@ 321 cm? (b) 642 cm” oo Y %

e 2 A
L fo) 128 cm? (d) 2566cm
“-;."f"'i ® 29, IfA (4, -2), B(7, - 2) and C(7, 9) are the vertices of a AAB&O*=the}f_.ZVAAB’C is
i (@) equilateral triangle ’ A
(b) ,Asosceles triangle
(z/:ight angled triangle = ”»
AL B, o @V
(d) isosceles right angled trianglé "%3 %}2‘*@
«;;9 7.
g"’% -
30. Ifa, Bare the zeros of £ the ”quadratlc polynomial p(x) = 2% — (k + 6) x + 2(2k — 1),

then the valug?-__of k, 1f

o 3L If 1 is a natural number, then 2(5" + 61) always ends with

i,
T @ 1 b 4
© 3
. 2 ‘;iﬁgm'_
w
32. T £y 9
he line segment joining the points P(-3, 2) and &.
y-axis in the ratio '%“ % is
45T o
© 3:2 an ')
A s wWDL
030/2/4 i T ‘D
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33. Ifacotd+ b cosecO =P and b cotG + a! cosec(-) q, then p2-qg°=

T e
fg( a2+b2 ‘ oy b-a

34. If the penmete1 of a circle is half to that of a square, then the ratio of the

are‘a‘ of the ‘eircle to the area of the square is

(£) 2257 (b) 11:7 WD [/

D Ob 7: 11 @ 7:22

& *‘35 A dice is rolled twice. The probability that 5 will not cog‘lfe'\"ii'f)"f.’éithe“‘if‘time

" is
36 -.l\v.r'-:
13
© 36

36. The LCM of two number§ 's 2400 Whlch of the following CANNOT be

their HCF ? Ne B
‘s/ 500 (d) 600

% S w

azx& r\r...(-:‘-u
a % . % '
g QB and RC are each perpendicular to AC. If x=8 cm and z=6

R ' :'5
Q P i
y z
B C

56

(a) 7cm
25

() = cm ‘
U a;}

030/2/4 PE0
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38.

39.

L1

181

In a AABC, ZA = x°, AB-(Sx—2)° 2C =y°. Also £C - ZB = 9°, The sum of

the greatest and the smal'lest angles of this triangle is

(@) 107° £y, B b 138
© 165° .« ‘:_‘ v () 145° 5
1f secO + tanﬂ =P then tan() is
2 , 21
@ o ® 5
2 4 2
i E.-i‘_ 1 H + 1 4
(C) S u2+ 1 (d) p2 _ 1 ;{‘,T‘. \"
\

The base BC of an equilateral AABC lies on the y-axis. The co- ordmates‘ of

" C are (0, —3). If the origin is the mid-point of the base BC, what are the co- ‘

ordinates of A and B ?

(@ AQ3 0),B03) (b) A(i3\]§,0) B(3 ;}, 9
© A@E33,0,B03) @ A(—«lﬁl",‘

SECTION-C &
Q. No. 41-45 are based on Case Study-IL a\?e to answer

questions. Q. No. 46-50 are based on C udy-II you have to answer
any (4) four questions. ~

/////

eep ks on rent for reading. He has
variety of books in his storeix 1ated to fiction, stories and quizzes etc. He

takes a fixed chargéfor thi ﬁrst two days and an additional charge for

pald % 99 for a book and kept for 6 days; while
ng the book for 4 days

AT N

d

M\

Assume that the fixed ch *1‘1 %}} %ge (per day)

bely.

Based on the above information, answer, anyf

arge be T x and addlf

four of tihe following questions :

41. The situation of amount paid by Radhlka, 1§ algebralcally represented by
(@) x—4y=16 b,»\\ x§+4y——16
© x—-2y=16 Uy +2y=16

030/2/4
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42. The situation of amount paid by Amruta, is algebraically represented by
(@) x—2y=11 o v (b)) x—-2y=22

\;ﬂ/ sray=2y  wpn ¥ @ s-dy=ll

W T,

43. What ale the ﬁxed ‘charges for a book ?

W 210

(a) ? 9

(c) 718’ (d 1o
" ¥ ‘\: \,\ |
P day for a book ?

‘.’iri_:u44;;'3‘fWhat are the additional charges for each subsequent
W @ 6 b) %5
, © %4 z3

if boph?jgf themshave kept the book

£

45. What is the total amount paid by both,
for 2 more days ?
(a) T35
(c) ¥50

n“"": ‘3{

1 %

& “E; Qa eStudy—II
L “ (14"'

§\,

<

A farme_i;_};\hasi S"ﬁeld 1rT the shape of trapezium, whose map with scale

;1
,Tpe’ﬁeld 15 d1v1ded into four parts by joining the opposite vertices.
B 5 cm

v A B v .
- f t. 3 Y
’ &L e
s @ > Mcm b ¢ o l
;i! Based on the above information, answer any four of’ the followmg questions :
46. The two triangular regions AOB and COD are ! z y
\(Af Similar by AA criterion (b) ”'éSlmll&r by SAS criterion
(¢) Similar by RHS criterion hm{"(d)-x 'Not similar
P.T.O.
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417. : '
The ratio of the area of the AAOB to the area of ACOD, is
(@ 4:1 ‘a/:. 4

) 1:2 :
@ 2:1 5

48. 1f the ratio of the perimeter of AAOB to the perimeter of ACOD would

have been 1: 4, then

(a) AB=2CD ){(AB:ND
© CD=2AB \}J)/CD=4AB
- A0 _AD_OD
49. Ifin As AOD and BOC, BC ~BO = ocC then
@ AAOD ~ABOC of  AAOD ~ ABCO
() AADO ~ABCO ~(d). AODA ~ AOBC

50. If the ratio of areas of two similar triangles AOB and COD is 1 : 4, then

which of the following statements is true ?
w The ratio ofﬁt}heif—p'eﬁmeters is 3 :4.
JB The corresponding altitudes have a ratio 1: 2.

: 0
p( The medians have a ratio 1: 4.
lﬁg The angle bisectors have a ratio 1 : 16.
030/2/4 . ~ Page 12 = 5‘
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